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oo

® ma+mb—-m=m(a+b)
@)644? + 32ab + 4b* = (8a + 2b)°
® —4a® + 9b> = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x-2)(x-3)

© 2x% = 5xy + 3y* = (x = 3y)(2x -~ y)

B

O ma+mb-—m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x%-5x-6=(x—-6)(x+1)
® 2x® - 5xy + 3y* = (2x - 3y)(x ~)




S A2 11201 A, 2 - By 449 7h AR BA0] HES sl
A, B Ti5k] A + B o] 7L

5 @m0 @4 @42 O ss

B ~

(x+6)%2 = x>+ 12x + 36

S A=36

(x-7)2=x*-14x+49, -B=-14
L B=14

LA+ B=36+14 =50




3. 20x* +22x+A = (4x+ B)(Cx +3) & W), ABC o] o= dgre
AL WY

® 40 @60 ® 70 @ 90 ® 100

B )

(4x + B)(Cx +3) = 4Cx? + (124 BC)x + 3B
4C=20, .C=5

12+ BC =22, .B=2

A=3B, . A=6

.. ABC =60




4. FOIRA 24203 22 + 5r-3 O FEY A4S Pl
B

>
> =g x+3

2 4+2x-3=(x-1)(x+3)
2% + 5x—3 = (2x— 1) (x + 3)




327 + (34 + 16)x - 6 & QI5-ESSI (x + b)(3x - 2) 7} ek, ofu,
¥ a+b o ZEEY

@ -3 @ -1 @0 @ 2 ® 3

B ~

(x+b)(3x—2) =3x*> + (-2 + 3b)x - 2b °| B2
3x% + (=24 3b)x — 2b = 3x* + (3a + 16)x — 6
—-2+3b=3a+16, —2b = -6 L b=3

L a=-3 La+b=0




(x+4)*-3(x+4) & d+Eofistd?

@ (x+4)(x-1) @ (x-4)(x+1) @ (x-7)(x+4)
@e+96+1) O x-Nx+1)

(x+4)2-3(x+4)=(x+4)(x+4-3)
=(x+4)(x+1)




7.

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)




D 80 @)100 ® 120 @ 140

® 160

1.23(552 — 452) = 1.23 x 100

~[_]=100




9. 3a’b-ab 9 A7} opd ALY

® 1 @ a ® b @aw  @a

3a*b — ab = ab(3a — 1) ) B2 3ab® — ab 2] A5 a®b= QUTH.







11. o5 IHNA P o HEE«a
QY HES b T,

a® - b* o] gr& Tt

\
1 x \
! 4 \\ !
) 4 X
0o P1 2 Q
| =
|>I-IC-I' _3_8\/5
a=2-V2, b=1+2v2
a>-b*=(a+b)(a—b)

=(2-V2+1+2V2)(2- V2-1-22)
=(3+ V2)(1-3v2)

=3+V2-9V2-6=-3-8V2




12. g BIold a—b-c+d ) @S Fatolal.

H7]
@ x> +2x-15=(x-3)(x+a)
© 2x* +10x+ 12 =2(x+ 3)(x + b)
© (x+c)(x—c)=x2-9 (c>0)

® —2x2 - 16x—32 = —2(x + d)?

[
H -

>
l> XMekr oy

oH =

B

@D +2x-15=(x-3)(x+5) ~a=5

©2x> +10x+12=2(x+3)(x+2) .b=2

© (x+3)(x-3)=x>-9 .c=3

@ —2x?-16x-32=-2(x+4)? ..d=4

et a=5 b=2c=3,d=4°E2 a-b-c+d=4
o},




13. ax®-18x+b7Fx+1 T 2x—11 2 Uroldold o, ¢ + b O] 3L
“Fato2t.

ax? —18x+b = A(x+ 1)(2x - 11)
ax®> —18x +b = A(2x* - 9x — 11)
ax® — 18x + b = 2Ax?> — 9Ax - 11A
A=2,a=4,b=-22
“a+b=-18




14. 3x* -Ax-57Fx-5 = Uro] Hojd off, A o] g2 5ozt

> E

> ®et A=14

B

& ax+b 2 St
3x2 —Ax—5 = (x-5)(ax + b)

= ax® + bx — bax — 5b
a=3,-5b=-5,b=1
b-5a=1-15=-14=-A,A=14




|ZHAE 2, So] a3 Zo] Zx JAeEs) At A& oAt
A& a2 JA+EASHA a(x —b)(x—c) € W, a+b+c 9 S
Fatolet

2 S 4TTS EHEL B Bx+3)(x-7) 22 QAIFE

A2 3x% — 22x + 24 A A4t +24 E A B,
22 322 — 18x — 21 oA x O] AlF= 18 2 9| H ot}
wHehA] 3x2 — 18x + 24 = 3(x — 2)(x — 4)
La=3,b=2,c=4

“a+b+c=9




16. 7127} 2a + 3, Hol7} 6a2 —a — 15 Q1 AAZFE 2] £ 2] Zo]
Joteigt,

> E:

> HEHl 10a-4

il

B

6a®> —a—15= (2a+3) (3a-5)°| =2
(MZ2)=3a-5
~ (B¥9 Zo]) = (2a+ 3+ 3a-5) x 2
= (5a—2) x 2
= 10a -4




17. 2 -y +8y-16= (A)(B) & W, A+ B = x? 2] S| & FalH?(H,
x#0)

D x=1 @x:Z ® x=3 @ x=4 ® x=5

B \

x2—y? +8y—-16 = x% - (2 - 8y + 16)
=x*-(y-4)?
=(x+y-4)(x-y+4)

A+B=(x+y-4)+ (x—y+4) = x?A

= x=0F=x=2,

XA x#00|ER, x =2 O[T},




2 = 2xy 37 + 20 - 2y - 3& AFRGHA?

O (x-y=-3)(x-y+1) @ (x+2y+3)(x-y-1)
@ x-y+3)x-y-1) @ (x-2-3)(x-y-1)
® (x=y+3)(x—2y+1)

B

Zol4 412 xo] Be) Felak
x4+ (2-2)x+y*-2y-3
=+ (2-2)x+(+1)-3)
=x-0+DHx-0-3))
=(x-y-Dx-y+3)




19. a+b=10,a>-b*>-3a-3b=>50 4 W, a-b 2] g 5t}
> =

> HE: g-b=238

B

a’? —b?> - 3a—-3b =50

(a* = b*) - 3(a+b) =50
(a+Db)(a=b)-3(a+b) =50
(a+b)(a-b-3) =50
a+b=10°E=2
a-b-3=5

“a-b=8
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20. x——zl‘é“ﬂ,x2——2—°’]%l'—&?
X X

®i«/5 @ +4 ® +1 @ 2

B

1)\? 1)\?
(x+—) :<x——> +4=1+4=5
X X




21. a-b=22A ), o —2ab+ b% + 4a — 4b ] FL-E FStod=}.
et

| 2
[> o= 12

ok =

B

a?—2ab+ b2 +4a—4b = (a—b)? +4(a—b)
=224+4x%x2
=4+38
=12




22.

ol-gfo] shitel

2
o}, o] o, A1zt

a2 z | 2
z 1 1
% 1 1

FTHoleEx®+4x+4
K Hdx+4=(x+2)?
wrebA & #o] Aol (x +2)




23. 2(x+2)2+ (x+2)Bx-1)-(3x-1)? = —(ax + b)(cx + d) & T,

ab + cd & = Y (H, 4, c = FF)

@1 o3 ® 0 @ 2 ® -2

B )
x+2=A, 3x—1=B= X|&slH

2A% + AB-B? = (2A-B)(A+ B)
=(2x+4-3x+1)(x+2+3x-1)

=—(x-5)(4x+1)

sab+ed=1x(-5)+4x1=-1




24. o F 87 e AL

O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)
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